



Physics Paper I MCQ’s    Class IX
1. The graph shows how the velocity of a car changes with time;
Fig should be inserted 
                                         SLO #3.3.3
a). The car decelerates until it stops

b). The car first decelerates and then moves with a steady speed
c). The car accelerates uniformly
d). The car first accelerates and then moves with a steady velocity

2.  The diagram shows part of a micrometer screw gauge. The reading shown is;



Fig should be inserted   
                    SLO # 2.4.1
a). 5.29 mm

b). 5.81 mm

c). 5.39 mm

d). 5.79 mm

3. A piece of rock is on the surface of Moon has a mass of 500gm.It is brought to the Earth where the gravitational field is stronger .On earth the rock will have;

  

                                                                                 SLO # 4.1.3
a). Less mass & less weight 

b). More mass but less weight

c). Same mass but different weight

d). Same mass & same weight

4. A cyclist is riding at a speed of 5m/s applies brakes with uniform deceleration and stopped after covering a distance of 3m, the time required to completely stop is;                                                                  SLO # 3.4.2

a). 0.6 sec

b). 1.2 sec

c). 2.0 sec
d). 1.8 sec

5. When a heater provides 2000 joule of energy to a liquid of mass 100gm, the temperature rises by 5 0K. The specific heat capacity of liquid will be;      
                                                                                                     SLO # 11.3.1
a). 4000 j / kg. k
b). 40 j / kg. k
c). 840 j / kg. k
d). 280 j / kg. k
6. An Eskimo is pulling a sledge across level snow. The sledge has a mass of 25kg. The Eskimo pulls with a horizontal force of 60N and the constant force of friction is 20N.The acceleration of the sledge is;  
 SLO # 4.3.2
a). 0.08 m/s²

b). 0.625 m/s²

c). 1.6 m/s²

d). 2.0 m/s²

7. Two forces of magnitude 9 N & 12 N are acting right angle to each other, their  resultant force will be; 


                               SLO # 5.5.3
a). 15 N

b). 20 N

c). 22 N

d). 18 N

8. A body builder uses a chest expander with five springs. It takes a force of 200 N to pull One spring by 15cm.The total force applied by him to extend the expander by 15 cm   is:


                              SLO # 4.1.2

a). 40 N

b). 80 N

c). 200 N

d). 1000 N

9. A girl of mass 40 kg takes 4 sec to run up the stairs as shown in diagram.
Fig should be inserted    
                                        SLO # 8.1.1
    Her average speed will be;
a). 0.75 m/sec

b). 1.33 m/sec

c). 1.25 m/sec

d). 12 m/sec
10. A stone is thrown vertically upward which statement is correct if we neglect air friction; 

                                                    SLO # 8.2.1
a). Kinetic energy changes into potential energy

b). Potential energy converted into kinetic energy

c). both energies increased

d). both energies decreased

11. A null vector has; 

                                                   SLO # 5.1.2
a). No direction

b). No magnitude

c). No existence

d). Neither magnitude nor direction

12. The first book on Algebra was written by; 
                    SLO # 1.5.1
a). Al-beruni

b). Musa khwarzmi

c). Hassan Tusi

d). Dr. Abdul Salam
13. The branch of physics that deals with the knowledge of the heavenly bodies and the interaction between matter & energy in the space is; 

                       

                                                                                                      SLO # 1.2.1
a). Mechanics

b). Sound

c). Geo-physics

d). Astro-physics

14. The property of a body that opposes any change in its state of rest or motion is called its; 

                                                   SLO # 4.2.5
a). Inertia
b). Mass

c). Force 

d). Energy

15. Force can also be defined as; 
                                          SLO # 4.4.1
a). Rate of change of energy

b). Rate of change of momentum

c). Rate of change of velocity

d). Rate of change of inertia

16. The total linear momentum of a system remains constant if; 
 SLO # 4.4.1
a). No external force is acting upon it

b). It has no energy

c). No friction force is present

d). It is freely falling under gravity

17. The force of static friction is always; 
                               SLO # 4.3.1
a). Equal and in the same direction

b). Equal and opposite in direction

c). Less than the applied force

d). More than the applied force

18. One meter is equal to; 

                                          SLO # 2.2.2
a). 104 mm

b). 106 mm

c). 10-6 mm

d). 103 mm

19. A 25N force acts along the X-axis. Its Y-component is; 
SLO # 5.5.4
a). 0 N

b). 25 N

c). 20 N

d). None of the above

20. A stone of mass 2 kg falls from the top of a tower and reaches the ground in 3 sec. If a stone of mass 3 kg to fall to the ground from the top of the same tower then;
                                                              SLO # 3.5.1
a). It will take 2 seconds

b). It will take 6 seconds

c). It will take 4.5 seconds

d). It will take 3 seconds

21. If the uniform speed of a body moving in a circle is doubled, its centripetal force becomes; 





SLO # 7.1.2
a). Twice

b). Three times

c). Four times

d). Eight times

22. Which of the following is the same as kg.m / s2      
               SLO #   4.1.1
a). Joule

b). Newton

c). Watt

d). Kilowatt

23. An input of 500J has been provided to a machine. If the efficiency of the machine is 45%, then output will be; 


                     SLO # 9.1.1
a). 500 joule 

b). 255 joule
c). 225 joule
d).525 joule
24. Heat energy is supplied at the same rate to 100gm of paraffin and 100gm of water in Similar containers, the temperature of the paraffin raises faster. This is because the Paraffin is; 




         SLO # 11.3.1
a). More denser than water

b). Less dense than water
c). has smaller heat capacity than water
d). has larger specific heat capacity than water
25. A given mass of air occupies 12 m3 at normal atmospheric pressure. If the pressure is increased to 4 times the original value without changing the temperature than the volume of air will be;


      SLO # 11.2.6
a). 3m3    
 

b). 6m3    
 


c). 48m3
c). Becomes 4 times

